Skillswise 1 O

Plurals quiz

Level A

1. There were lots of at the display.
Pick the correct plural spelling of ‘firework’.
A) fireworks
B) fireworkes
C) fireworkies

2. She put lots of on his card.
Choose the correct plural spelling of 'kiss'.
A) Kkiss's
B) kisses
C) Kkissis

3. Where are my car ?
What is the correct plural spelling of key?
A) keys
B) keyes
C) keyss

4. She threw all of her out of the pram.
Choose the correct plural spelling of toy.
A) toyes
B) toys
C) toyse

5. There were two of bread baking in the oven.
Pick the correct plural spelling of loaf.
A) loafs

B) loaves
C) loafes

bbc.co.uk/skillswise ©BeCc2011 JE[E



Skillswise

Ll@

Plurals quiz

6. Several were in the cage at the zoo.
What is the correct plural spelling of monkey?
A) monkies
B) monkeyes
C) monkeys
7. Please wash up all these
Pick the correct plural spelling of dish.
A) dishs
B) dishes
C) dishies
8. The shepherd rounded up twenty of the
What is the correct plural spelling of sheep?
A) sheepies
B) sheeps
C) sheep
9. She was wearing three because she was very cold.
Choose the correct plural spelling of scarf.
A) scarfs
B) scarves
C) scarfes
10. You can have three
What is the plural spelling of wish?
A) wishes

B) wishs
C) wishies

bbc.co.uk/skillswise

© BBC 2011

B[B[C



Skillswise 1 O

Plurals quiz

Level B

1. He putthe two under his pillow.
Choose the plural spelling of tooth.
A) tooths
B) teeths
C) teeth
2. The two bank were open when the police arrived.
What is the plural spelling of safe?
A) saves
B) safes
C) safies
3. He wanted twenty of the photograph!
Choose the correct plural spelling of copy.
A) copy
B) copies
C) copyies
4. You can have three at the answer.
Pick the correct plural spelling of guess.
A) guess
B) guesses

C) gueses

5. She had left him five in the sink to wash up.

What is the plural form of saucepan?

A) saucepanes
B) saucepans
C) saucepanns
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6.

10.

They went to three different
Choose the correct plural spelling of church.
A) churchs

B) churchies
C) churches

Two of the were identified leaving the scene.

What is the correct plural form of thief?

A) thiefs
B) thieffs
C) thieves

The hotel has three working in the kitchen.
What is the plural spelling of chef?
A) chefs

B) cheves
C) chefes

| was stuck behind three all of the way here.

What is the plural spelling of lorry?

A) lorry

B) lorries

C) lorreys

They ate six Danish between them.
Which is the correct plural spelling of pastry?
A) pastry

B) pastreys
C) pastries

before they found the wedding.
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Level C

1. She took part in all of the many on the holiday.
What is the plural form of 'activity'?

A) activities
B) activityies
C) activertes
D) activityes

2. He put all of the in order.
What is the plural spelling of disc?
A) discs
B) disces
C) discess
D) disc's

3. Both the had flat tyres.
What is the plural form of bicycle?
A) bycyclies
B) bicycles
C) bicycls
D) bicycils

4. The castle was many old.
Choose the correct plural spelling of century.
A) centuryes
B) centuries

C) centries
D) centurys
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5. We visited four before we found the right one.
Choose the correct plural spelling for nursery.

A) nurserys
B) nurserees
C) nurseryes
D) nurseries

6. She had many different coloured to choose from.
Pick the correct plural spelling of lens.

A) lens

B) lenses
C) lensies
D) lensses

7. There was a group of standing under the tree.
What is the plural spelling of deer?
A) deered
B) deers
C) deeries
D) deer
8. Please make twenty for lunch.
Choose the correct plural spelling of sandwich.
A) sandwich
B) sandwices
C) sandwiches
D) sandwichies
9. The three flew in the sky.
What is the plural form of goose?
A) gooses
B) geeses

C) geese
D) goosses
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10. The were all different.
Choose the correct plural form of roof.

A) roves
B) roofes
C) roofves
D) roofs
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Answers

Level A

1. There were lots of at the display.
Pick the correct plural spelling of ‘firework'.

The correct answer is: A. Fireworks is the plural of firework. The most common way to make a
plural is to add 's' on the end.

2. She put lots of on his card.
Choose the correct plural spelling of 'kiss'.

The correct answer is: B. Kisses is the correct plural spelling. Kiss ends with an 's', so 'es' is
added to make the plural.

3. Where are my car ?
What is the correct plural spelling of key?

The correct answer is: A. Keys is the plural of key. When there is a vowel (a, e, i, 0, u,) before
the'y'add an's'".

4. She threw all of her out of the pram.
Choose the correct plural spelling of toy.

The correct answer is: B. Toys is the plural of toy. When there is a vowel (a, e, i, 0, u,) before
the 'y' add 's'.

5. There were two of bread baking in the oven.

Pick the correct plural spelling of loaf.
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The correct answer is: B. Loaves is the plural of loaf. This word changes the 'f' to 'v' before
adding 'es'.

Several were in the cage at the zoo.
What is the correct plural spelling of monkey?

The correct answer is: C. Monkeys is the plural of monkey. When there is a vowel (a, €, i, 0,
u,) before the 'y' add 's'.

Please wash up all these
Pick the correct plural spelling of dish.

The correct answer is: B. Dishes is the plural of dish. For words ending in 'sh’, add 'es' to
make the plural form.

The shepherd rounded up twenty of the
What is the correct plural spelling of sheep?

The correct answer is: C. Sheep is an irregular plural and doesn't follow any of the plural
rules!

She was wearing three because she was very cold.
Choose the correct plural spelling of scarf.

The correct answer is: B. Scarves is the plural of scarf. Some words change the 'f' to 'v' before
adding 'es'.

You can have three
What is the plural spelling of wish?

The correct answer is: A. Wishes is the plural of wish. For words ending in 'sh’, add 'es’ to
make the plural form.
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Level B

1. He putthe two under his pillow.
Choose the plural spelling of tooth.

The correct answer is: C. The plural of tooth is teeth. Teeth, is an irregular plural and doesn't
follow any of the plural rules!

2. The two bank were open when the police arrived.
What is the plural spelling of safe?

The correct answer is: B. Safes is the plural of safe. Safe is one of the words that ends in 'fe’
but adds an 's' to the end to make the plural.

3. He wanted twenty of the photograph!
Choose the correct plural spelling of copy.

The correct answer is: B. When there is a consonant (any letter that is not a vowel) before the
'y, change the 'y' to 'i' before adding 'es.

4. You can have three at the answer.
Pick the correct plural spelling of guess.

The correct answer is: B. Guesses is the plural of guess. For words ending in 's', add 'es' to
make the plural form.

5. She had left him five in the sink to wash up.

What is the plural form of saucepan?

The correct answer is: B. Saucepans is the correct plural of saucepan. The most common
way to make a plural is to add 's' on the end.
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6. They went to three different before they found the wedding.
Choose the correct plural spelling of church.

The correct answer is: C. Churches is the plural of church. For words ending in ‘ch’, add 'es' to
make the plural form.

7. Two of the were identified leaving the scene.
What is the correct plural form of thief?

The correct answer is: C. Thieves is the plural of thief. Thieves changes the 'f' to 'v' before
adding 'es'.

8. The hotel has three working in the kitchen.
What is the plural spelling of chef?

The correct answer is: A. Chefs is the plural of chef. Chef is one of the words that ends in 'f'
but adds an 's' on the end to make the plural.

9. | was stuck behind three all of the way here.
What is the plural spelling of lorry?

The correct answer is: B. Lorries is the plural of lorry. When there is a consonant before the
'y, change the 'y’ to 'i' before adding 'es.

10. They ate six Danish between them.
Which is the correct plural spelling of pastry?

The correct answer is: C. Pastries is the plural of pastry. When there is a consonant before
the 'y', change the y' to 'i' before adding 'es.
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Level C

1. She took part in all of the many on the holiday.
What is the plural form of "activity'?

The correct answer is: A. Activities is the plural of activity. If there is a consonant before the
'y, change the 'y' to 'i' before adding 's'.

2. He put all of the in order.
What is the plural spelling of disc?

The correct answer is: A. Discs is the plural of disc. The most common way to make a plural
is to add 's' on the end.

3. Both the had flat tyres.
What is the plural form of bicycle?

The correct answer is: B. Bicycles is the plural of bicycle. The most common way to make a
plural is to add 's' on the end.

4. The castle was many old.
Choose the correct plural spelling of century.

The correct answer is: B. Centuries is the plural of century. When there is a consonant before
the 'y', change the 'y' to 'i" before adding 'es'.

5. We visited four before we found the right one.
Choose the correct plural spelling for nursery.

The correct answer is: D. Nurseries is the plural of nursery. When there is a consonant before
the 'y', change the 'y' to 'i' before adding 'es'.
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She had many different coloured to choose from.
Pick the correct plural spelling of lens.

The correct answer is: B. Lenses is the plural of lens. For words ending in 's’, add 'es' to make
the plural.

There was a group of standing under the tree.
What is the plural spelling of deer?

The correct answer is: D. The plural of deer is deer. Deer is an irregular plural and doesn't
follow any of the plural rules!

Please make twenty for lunch.
Choose the correct plural spelling of sandwich.

The correct answer is: C. Sandwiches is the plural of sandwich. For words ending in ‘ch’ add
'es' to make the plural form.

The three flew in the sky.
What is the plural form of goose?

The correct answer is: C. The plural of goose is geese. Geese is an irregular plural and
doesn't follow any of the plural rules!

The were all different.

Choose the correct plural form of roof.

The correct answer is: D. Roofs is the plural of roof. Roofs is one of the words that ends in 'f'
but adds an 's' to the end to make the plural.
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